A4 11
£ e?ypi)'\['c.‘e_ list/

1O

==
code description #g;g;jé;/fﬁ %
/ |CS-PDL-ALRACC ALUMINIUM ADJUSTABLE ACCELERATOR PEDAL m ¥19,800
/  |CS-PDL-ALRBRK ALUMINIUM ADJUSTABLE BRAKE PEDAL m ¥19,800
1 KIT-PDL-SCRR R MOD. PEDAL PIN ¥880
2 |KIT-PDL-BSHR BRASS PEDAL BUSH R MOD. ¥780
3 |KIT-VT-SPRTRBRK BRAKE TORSION SPRING ¥580
3A |KIT-VT-SPRTRACC ACCELERATOR TORSION SPRING ¥580
4 |KIT-PDL-STPBSHR STOP PEDAL BUSH R MOD. ¥980
5 |KIT-VT-SC0820RH SCREW ROUND HEAD M8x20MM ¥60
6 |KIT-VT-ACCWR ACCELERATOR WIRE SCREW ¥680
7 |KIT-PDL-STADBSHR STOPPED R MOD. PEDAL ADJUSTMENT BUSH ¥780
8 |KIT-PDL-STADPINR STOPPED R MOD. PEDAL ADJUSTMENT PIN ¥780
9 |KIT-VT-PN0412 PIN 04x12MM ¥7100
24

2021 IPK ACCESSORIES / REV.001



ssorie3)

AL [

YRIT .
price_list/
miLs

code description #E;g;;—%ﬁ i

1 |CS-PDL-BRK BRAKE PEDAL - CHROMED ¥5 200

2 |CS-PDL-ACC ACCELERATOR PEDAL ~ CHROMED ¥5.200

3 |KIT-PDL-PIN PEDAL PIN ¥680

4 |KIT-VT-WS0816 WASHER 08x16MM ¥40

5 |KIT-VT-NTO8SL NUT SELFLOCK LOW M8 ¥50

6 |KIT-VT-SFO3RN PEDAL SAFETY SNAP RING 03.5MM ¥80

7 KIT-VT-SC0630CH SCREW CYLINDRICAL HEAD M6x30MM ¥60

8 |KIT-VT-NTO6HX NUT HEXAGON M6 ¥50

9 |KIT-PDL-CAP PEDAL CAP ¥7140
10 |KIT-PDL-SPR PEDAL SPRING ¥7180
11 |PDL-ADP PEDAL ADAPTER ¥6,800
12 |CS-AFSYS ADJUSTABLE FOOTREST SYSTEM ¥11,800
13 |CS-PDL-BRKSPD SPEEDY / PICCOLO BRAKE PEDAL — CHROMED ¥4,400
14 |CS-PDL-ACCSPD SPEEDY / PICCOLO ACCELERATOR PEDAL - CHROMED ¥4 400
15 |CS-PDL-UAFS ADJUSTABLE FOOTREST SYSTEM with brake tie rod 250mm (PROVIDED WITHOUT PEDALS) ¥35,800
16 |CS-PDL-BRKSPD SPEEDY / PICCOLO BRAKE PEDAL — CHROMED ¥4,400
17 |CS-PDL-ACCSPD SPEEDY / PICCOLO ACCELERATOR PEDAL — CHROMED ¥3800
18 |CS-AFSKND KINDER / BABY ADJUSTABLE FOOTREST SYSTEM ¥17.800
19 |CS-PDL-BRKKND KINDER / BABY BRAKE PEDAL CHROMED ¥4 400
20 |CS-PDL-ACCKND KINDER / BABY ACCELERATOR PEDAL CHROMED ¥3800

2021 IPK ACCESSORIES / REV.001

25




i FLTTAEFE
code description ,
P (BH)
VT-WRACC ACCELERATOR WIRE 1.2x2000MM SWEDISH TYPE
VT-WRBRK BRAKE-CLUTCH WIRE 1.9x2000MM SWEDISH TYPE ¥1,000
| VT-SHACGR GREY SHEAT CLUTCH/ACCELERATOR WIRE (50 meters)

¥13,800

[KIT-vT-ACRGSC

ACCELERATOR REGISTER SCREW M8

\ ¥680

[KIT-vT-SHO630

SHEATH REGISTER SCREW M6x30MM

e ——————————.
F ¥320

[KIT-vT-20LACC

2 SCREWS CLAMP ACCELERATOR WIRE

- ¥660

[KIT-vT-cLACC

CLAMP ACCELERATOR WIRE

I KIT-VT-SDCLBRK SIDE SCREW CLAMP BRAKE-CLUTCH WIRE
# ¥320
KIT-VT-TRACC TERMINAL FOR SHEATH ACCELERATOR WIRE
KIT-VT-TRBRK TERMINAL FOR SHEATH BRAKE-CLUTCH WIRE E ¥260
I KIT-PDL-SCRSP2 PEDAL SCREW SPACER 2 HOLES .
. Yot v ¥280
| PDL-ADPLT ADAPTOR BRAKE PEDAL PLATE FORFOOTREST SYSTEM e o=
®
- ® ¥1,800

[PDL-UAFSADPL

ADAPTER PLATE FOR FOOTREST SYSTEM

¥1,800

[KIT-vT-WRBLT

PLASTIC TIGHTENING WIRE BELT (100 pieces)

2021 IPK ACCESSORIES / REV.001

¥1,800

26



